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. . Dear CareersValley Reader,
Latest Practice Question Alert

Find the greatest number of five digits, which is Below are' four S('leed C' interview questions.
exactly divisible by 7, 10, 15, 21 and 28 Though this question set is tagged under TCS

sample questions, similar questions can be ERROR
1)99840 2)99900 3)99960 4)99990

expected during other interviews too.

CLICK HERE TO Answer This Question On | |nterview Question 1

CVParticipate Which Is A Discussion Forum The I‘eq ueSted U RL
Supported By CareersValley Which ~ of  the  following  program cou Id n ot be retrieved

structure/component/statement is not an
example for implementation of modularization ?

Options : a) DLL b) Functions c) type casting

Answer :

Option c) type casting. DLL and Functions help in modularization of a program while typecasting just
converts from one data type to another. [ Fresher IT Jobs "] Experienced IT Jobs

. . [”] Bank & Finance Jobs [] Mechanical Jobs
Interview Question 2

Email: Submit|
Can a program be invoked from another program ? If yes, how it can be done ?

Answer :
Solved Placement Papers
Yes, a program can invoke another program using system calls.
Company
Interview Question 3 3i Infotech (5)
Accenture (17)
CTS (7)
Capgemini (1)
Answer General (30)
HCL (17)

Most of you would be knowing "Register" variables are the ones stored in CPU for faster access. Is there
a crude way to determine data size for register variables.

Yes, generally the size would be less than or equal to integer data size. There are exceptions too.
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Interview Question 4

Is it necessary to use register modifier on all compilers irrespective of whether they are old or modern Infosys (21

ones ? L&t Infotech (1)
Syntel (3)

Answer : TCS (33)

Tech Mahindra (3)

WIPRO (31)

No, compilers nowadays are intelligent enough to decide which variables need to be kept in CPU
registers depending upon the estimated usage.
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